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EX: BwEY
M CAX DENH EX
SRl ANEZ22(ZEANLSAIESESIA) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 ZB2Hl 5,000 5,000 0
OSXA UHTM HEEH 242
5,000,000& * 14 5,000
202 (4] 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OQUSAE gF [0: 1]
20,000& * 69 = 503 6,000
206 T2 HI 13,000 13,000 0
01 24l 13,000 13,000 0
OXNEEME I 2! 80,000& =* 100 8,000
OXEEMEsE H 50,000& * 100X 5,000
305 A =2S 3,000 3,000 0
O1Hiad=2S 3,000 3,000 0
QX A & = BAaZ
3,000,000& * 14 3,000
401 Al HIL 201 1,405,000 1,105,000 300,000
01 Al &bl 1,400,000 1,100,000 300,000
OZEA XM 900,000,000& * 14 900,000
Oat2Al XM 500,000,000 * 14 500,000
03 A& 2 0H b 5,000 5,000 0
OANA&E=20UbI 5,000,000& * 14 5,000
405 XHoHF SHI 35,000 0 35,000
01 At = S F S b 35,000 0 35,000
O283EaX F# 35,000,000& * 14 35,000
ASE H3 L B 445,000 445,000 0
201 et A | 108,000 108,000 0
02 =294l 108,000 108,000 0
Odls , 838s 9,000,000& * 12& 108,000
401 Al HIL 201 337,000 337,000 0
01 Al &bl 332,000 332,000 0
Onsialss & 50,000,000& * 14 50,000
OLEFMOAHII 1 7,000,000& * 5044 35,000
O38dss & 12,000,000 * 1JH A 12,000
OLEDEX & & 3,000,000& * 501 A 15,000
Onsilss & 160,000,000& * 14 160,000
OsgasI & 2,000,000& * 1000 &~ 20,000
OXE HAES3 Ex+3A 20,000,000& = 14 20,000
OE&s 44X 2,000,000& * 1000 4~ 20,000
03 AlE 201l 5,000 5,000 0
Onsalss Al 5,000,000& * 14 5,000




FN: NS
Hu: CAX DERH =X
Cel A2 (ZEANNSALSEFA) )
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
22T EXAME 140,000 140,000
= 70,000
Al 70,000
401 AIEHIZ 2 0HHI 140,000 140,000
< 70,000
Al 70,000
01 A€ dl 140,000 140,000
OR#NS sSdl EXFX ZX3AM
140,000,000& = 14 140,000
< 70,000
Al 70,000
et usEd 75 4,057,235 1,021,640
= 150,000
< 45,000
Al 3,862,235
e 2ol (FEANLSALSESA) 558, 166 91,546
SEFEX 2el 558,166 91,546
101 1244l 35,596 A12,440
0412 H22 TS 2 =+ 35,596 212,440
OF2d XY =Xt 22| 35,596
oJlEs 74,2403 * 48 « 80 23,757
oxxrs+dg 74,2403 * 48 * 13 3,861
oiit+g 74,2408 x 4% » 32 891
oAl 2tA=E 13,9202 » 4% » 50Al2¢ 2,784
c4HEE 31,293,000& * 13.75% 4,303
201 2er2 4yl 179,670 23,730
01 AtR 2t 2l Hl 65,790 28,750
ORSANEH FAHHEH U=
450,000& » 12 5,400
Os8FXSA ANE 225 7
10,000,000& * 14 10,000
Oodelxtg Bz 60,000& * 2002 12,000
OHAXH L AQXE2E a4
8,000 = 5% = 8& * 12 3,840
Ousdme 22 MA  5,000,0008 * 14 5,000
Oolglolgtd WEE JINN 7
5,000,000& = 14 5,000
O=dXcs BEHE DXM & AMES MA
10,000,000& * 14 10,000
OAS A ns2el 9|
121,250 * 120¥ 14,550
02 3329l 111,880 1,200
OSAMZLR I8 SR 22H(28)
700,000& * 12E 8,400




2N
X ZH -
L= B

el

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OMAE 22X &2 MPlA X221
11,000,000& = 14 11,000
OxESNH(BEE2, £&4H S)
500,000& = 3CH ~ 12& 18,000
OX SFU (=X, ALZAX, A
22,160,000 * 14! 22,160
OFFI v DEHR Lo W2
2,180 = 2,000 ~ 12€ 52,320
03 A2 | 2,000 8,220 NG,220
OMAIX S DESAK IR 2
100,000 * 20™ 2,000
202 04 H| 19,000 27,600 A 8,600
01 2L I 19,000 27,600 A 8,600
OSAMNEIR L AIgH 22 &2 0H]
20,000 * 10¥ = 953 19,000
207 SO0 ] 25,000 0 25,000
02 & AHJH EHH| 25,000 0 25,000
OXEAN WEEE ESHOXN M 24
25,000,000 * 14! 25,000
301 LBt N = 4,100 4,100 0
09 HAIAHI X & 2 2,000 2,000 0
OUEESAIZ0F #HAZENH XS
200,000& = 5 * 23| 2,000
12 JIEtE A& =2 2,100 2,100 0
ONsSAMD s X TisH X
300,000& = 74 2,100
305 HiAa=2S 5,000 5,000 0
01 A2 S 5,000 5,000 0
OXEAHQ 3 Hia=2 5,000,000& = 1Al 5,000
307 2iz2to| A 9,000 9,000 0
02 QIZIA AAIE E X 9,000 9,000 0
OnNsEod SAISH &=Hl X
11,250,000 * 80% 9,000
401 AlEHIZL £ 0HY| 251,800 206,944 44 856
01 Al&H| 250,000 205,000 45,000
Ofolct=3tnet A Xl 30,000,000& * 502 150,000
ORoSEIHe € 2D AsIid
10,000,000 = 504 50,000
OCCTV =xtet= CHHEXIE X & WH
50,000,000& * 14l 50,000
03 AlEE2HH]| 1,800 1,944 N 144
OAlE S0l 1,800,000 * 14! 1,800
405 XHA&HF S HI 29,000 10,000 19,000




A S
oIt

HE: AUZY NEBY 7=
Cel: g 2 (LSANSASELESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et ESFH S 29,000 10,000 19,000
O=AI 2 4,500,000& * 2CH 9,000
OdaE=H M1 AsHel 2208 72¢
20,000,000& = 14 20,000
WEEZ MAF(ZEANLNSALSESA) 3,499,069 2,263,975 1,235,094
s 150,000
< 45,000
Al 3,304,069
FIHE A2 2,164,119 1,326,969 837,150
101 144 dl 126,119 123,669 2,450
4 D12t Z2XREES 126,119 123,669 2,450
OXI=INH(ZE, S&) LAAY o2 126,119
cJIE= 74,240 * 5F * 230 85,376
oIt 74,240 * 5% x 11 4,084
oFFH 74,2403 * 5H « 46Y 17,076
oNZSE
13,9203 = 5% = 8AIZt = 10 5,568
cANEY REY3 112,120,000& * 12.5% 14,015
201 Let2d] 423,000 393,000 30,000
01 At 22l I 393,000 388,000 5,000
O3S F=X& ML S
30,000,000& * 14 30,000
OBEFEXNY MYy 425 7Y
8,000,000& = 14 8,000
OB2 REFINY 2YHS HZEES ME
5,000,000& = 14 5,000
OFX& 22X gdiz 350,000,000& * 14 350,000
02 =224l 30,000 5,000 25,000
OSG=XE AES RANES
20,000,000& =« 14 20,000
OZ3ZFxd 22 23 10,000,000& = 14 10,000
305 tHat=2 S 10,000 5,000 5,000
01 HH&aZSE 10,000 5,000 5,000
OZY=NZ(NYRY) Hysle 24
10,000,000& * 14 10,000
401 A& HIZ 2018 1,605,000 805,000 800,000
01 A& HI 1,600,000 800,000 800,000
OBEEXNE T4 L SX2S
500,000,000& * 14! 500,000
OFX2H&EH €X € |FANE=
100,000,000& * 14 100,000
O=HX =x& 22X e
1,000,000,000& * 14l 1,000,000
03 A& S THHI 5,000 5,000 0




2N

HE: UZH NEBY 7=
©el: nsEd HAS(LEANLSMHEELSA) (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAZ =t 5,000,000 = 14l 5,000
SLE(HA - &Al) X L 22| 471,000 371,000 100,000
201 Lt 6,000 6,000 0
01 At 22l 6,000 6,000 0
OAMUWH A SRAIZE HH|(=4H)
6,000,000& = 14l 6,000
401 A& HIZ 201 bI 465,000 365,000 100,000
01 A& HI 460,000 360,000 100,000
Osdd daze 20,000,000& = 14! 20,000
Os2dd FANE=+ 90,000,000& =« 14l 90,000
Oz2F 24 % LA D
150,000,000& * 14l 150,000
Osd®d &Xl 200,000,000 14 200,000
03 Al 2 0HHI 5,000 5,000 0
OAIZ 2 THHI 5,000,000& = 14 5,000
WSUHTAIE &X & 22 335,920 336,920 A 1,000
201 £B-2dH| 27,920 28,920 A 1,000
01 At 224l 21,920 22,920 A 1,000
OustdAE 223 7
10,000,000& * 14 10,000
Ounsetd 22 M= 5,000,000& * 14l 5,000
OuSHEAIE HX =4
8,000& = 4% = 60 1,920
OusSgeEI 4oAs FH+E
100,000&  10¥ = 53 5,000
02 2324l 6,000 6,000 0
OANEXS XS =K XH  500,000& = 12& 6,000
206 M= Hl 45,000 45,000 0
01 =8l 45,000 45,000 0
ONEdREES 7¢ 35,000& * 1,0000H 35,000
OLEJ EX# g 50,000& = 2004 10,000
35 HHa =S 3,000 3,000 0
01 =8 3,000 3,000 0
OusAE=0l 28 FoXZHI
3,000,000& = 14l 3,000
401 AIEHI L 201 260,000 260,000 0
01 A& HI 255,000 255,000 0
OANERES &X 20,000,000& =« 14 20,000
OunsetdE X & AX| 100,000,000& * 1A 100,000
OuStEAIE |RXE+ 100,000,0008 = 14 100,000
O0lHE2F b (LprEd) 20,000,0008 * 14 20,000




2AMd: DS
Hu: 00EY DEBY 25
©el: nsEd HAS(LEANLSMHEELSA) (Sl & &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ogctzdas £X 15,000,000& * 14 15,000
03 Al S HHI 5,000 5,000 0
Ousetd AlIZ 20l 5,000,000& = 14 5,000
ol gl gl 228,030 229,086 A 1,056
801 Gl dl bl 228,030 229,086 A 1,056
01 BHoil bl bl 228,030 138, 646 89,384
O etalgl bl 228,029,350 * 14! 228,030
T2 22X BEFINE LAY 300,000 0 300,000
s 150,000
< 45,000
Al 105,000
401 A& HIZ 201 I 300,000 0 300,000
s 150,000
< 45,000
Al 105,000
01 A& HI 300,000 0 300,000
O=2dg 24X SSFXE gAY
300,000,000& * 14 300,000
ras 150,000
< 45,000
Al 105,000
HY2FZH (LS) 336,762 455,007 A 118,245
Ol Y (Y SADSALSESIH) 336,762 455,007 £ 118,245
ol 2A| 336,762 455,007 A 118,245
101 @124 4] 336,762 455,007 A 118,245
03 RIHAZ 2 E += 336,762 455,007 A 118,245
OZS& el 336,762
=lles 144,941
HEE X 2,220,050& * 2H * 123 53,282
Tyl s 1,909,560% * 4¥ * 123 91,659
oc¥I2d 14,200
HYB =X 1,110,030% = 2% « 23 4,441
&Y 2,439,560& = 100% * 4H 9,759
ol|Zg 19,517
S AYes 2,439,560& = 200% * 4H 19,517
o FE S IHHI 17,039
HHE X
2,220,050& = 60% » 23| » 2% 5,329
mofole
2,439,560& * 60% » 23| *» 4% 11,710
ocltRaEFIGt=E 15,176
HHEE X 106,090&  20& » 29 4,244
S AYesR 136,6403 * 4H » 20& 10,932




FN: NS
HH: #FY2ILH(1SD)
Chol: ol 2l (BSANREANLSH )
A B (EA) - MRAY - BES Of &t o4 il
oAN2LRAZRESE 25,790
HIE X 19,891& = 28 * 30Al2t 1,194
Tgels
25,6209 * 4% » 20AI2t » 123 24,596
oA ZAHI 9,360
-HHEX 130,000&  2& = 12& 3,120
- HYeR 130,000 * 438 « 123 6,240
oMEHHH (FHYLR)
2,439,560% * 250% * 4 24,396
ol SExH 10,080
HIEX 140,000& » 2% = 12& 3,360
YR 140,000& 4% = 12& 6,720
oSSR (HIAUR)
160,000& » 428 « 123 7,680
oXUNALY (HAOIR)
100,000 * 428 « 123 4,800
oflMAT(ReolI)
60,0008 » 4% » 12& 2,880
oZtAHI (MYl L)
3,0008 * 4% » 22 « 128 3,168
cRlAYRY(HEER)
100,000 * 28 « 123 2,400
octEdg 1,440
bH < Xt 40,0008 = 2% ~ 128 960
= 20,000& = 2% = 128 480
oMY= 600,000 * 4H 2,400
o=xUxHsSRE= 302,885,400 * 4.5% 13,630
o= AAEEHELES
302,885,400 * 3.23% 9,784
oHIIRAYEERES 9,784,000 * 4.26% 417
cINEZERES 302,885,400& * 1.5% 4,544
oMIEERES 302,885,400 * 1.03% 3,120




